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GEI = 1/3 (transformed GPI in primary) 

+ 1/3 (transformed GPI in secondary) 

+ 1/3 (transformed GPI in adult literacy)

GEI = 1/3 (0.99) + 1/3 (0.81) + 1/3 (1.00) = 0.93

Calculating the EDI

Once the GEI has been calculated, determining

the EDI is straightforward. It is the arithmetical

mean value of its four constituents – NER in

primary education, adult literacy rate, GEI and

survival rate to grade 5. The EDI value falls

between 0 and 1. The closer to 1 a country’s EDI

is, the nearer it is to achieving EFA overall. A

country with an EDI of 0.5 may be considered as

being halfway towards its goals. As a simple

average, the EDI may mask important variations

between its constituents. In other words, since

the EDI gives the same weight to each

constituent, the results for goals on which a

country has made less progress will offset its

advances on the others, as Box A1 shows. But

since all the EFA goals are equally important, a

country that concentrates only on some of them

would hardly be considered as having achieved

EFA. The objective of a synthetic indicator such

as the EDI is to inform the policy debate on the

prominence of all EFA goals and to highlight the

synergy among them.

Figure A5: Calculating the GEI
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Figure A6: Calculating the EDI

The following illustration of the calculation uses

data for the Dominican Republic in 2001. The

GPIs in primary education, secondary education

and adult literacy were 1.01, 1.24 and 1.00

respectively.


